COMFORTDELGRO ENGINEERING PTE LTD

REPAIR ESTIMATE

Updated 11 Feb 2020

Total: 10 Pages

DATE:

MODEL:

21.09.2020

TOYOTA PRIUS

INSURANCE: FIRE CASE

MVA: LIM TS

VEHICLE NO.: SHD3409U

PART NO.	DESCRIPTION	QTY	UNIT PRICE	AMOUNT
	Bonnet	1		\$950.50
	Insulator, Hood	1		\$398.10
	Insulator Clips	10	\$2.20	\$22.00
	Bonnet Rubber	1		\$35.50
	Bonnet Cable	1		\$53.20
	Bonnet Hinge (LH/RH)	2	\$57.70	\$115.40
	Bonnet Lock	1		\$132.60
	Catch, Hood Auxiliary Hook	1		\$8.60
	RADIATOR GRILLE EMBLEM	1		\$438.00
	Radiator Grille Emblem	1		\$88.00
	Front Bumper Cover	1		\$499.90
	Front Bumper Reinforcement	1		\$696.40
	Front Bumper Reinforcement Absorber	1		\$115.70
	Front Bumper Lower Reinforcement Bracket (LH/RH)	2	\$165.00	\$330.00
	Front Bumper Sponge	1		\$78.80
	Front Bumper Centre Grille	1		\$301.90
	Front Bumper Lower Grille	1		\$166.90
	Lamp Assy, FOG (LH/RH)	2	\$920.00	\$1,840.00
	Front Bumper Clips	10		\$22.00
	Front Bumper Side Retainer	2	\$77.00	\$154.00
	Front Lower Crossmember	1 1		\$357.70
	Front Radiator Lower Support Panel	1 1		\$357.70
	Front Under Cover	1 1		\$180.80
	Engine Under Cover (RR)	1 1		\$457.40
	Front Bumper Top Garnish	1		\$225.40
	Cover, Front Bumper Hole (LH/RH)	2	\$28.38	\$56.76
	Reinforcement, Front Bumper Lower	1		\$236.10
	Bracket, Front Bumper Extension Mounting	1 1		\$110.40
	Support Fr Bumper, RH	1 1		\$81.70
	Support Fr Bumper, LH	1 1		\$81.70
	Front Bumper Centre Frame	1 1		\$236.90
	Bracket, Front Bumper Side, RH	1		\$82.30
	Bracket, Front Bumper Side, LH	1		\$82.30
	Bracket, Front Bumper Mounting	1 1		\$29.60
	Bracket, Front Bumper Mounting, No. 2	1 1		\$97.80
	Absorber, Front Bumper, Lower	1 1	1	\$127.70
	Unit Assy, Headlamp, RH (LED)	1 1		\$3,455.00
	Unit Assy, Headlamp, LH (LED)	1 1		\$3,455.00
	Head Lamp Panel (RH)	1 1		\$240.10
	Head Lamp Panel (LH)	1 1		\$240.10
	Top Panel Centre	1 1		\$364.98

PART NO.	DESCRIPTION	QTY	UNIT PRICE	AMOUNT
	Top Panel Side LH	1		\$145.90
	Top Panel Side RH	1		\$145.90
	Brace Panel	1		\$75.20
ĺ	Bracket, Headlamp Mounting, RH	1		\$25.50
	Bracket, Headlamp Mounting, LH	1		\$25.50
1	Radiator Assy	1		\$1,841.80
	Radiator Fan Motor Assy	1		\$661.30
	*Radiator Top Hose, LH	1		\$43.03
	*Radiator Top Hose, RH	1		\$42.60
	Radiator Spare Tank	1		\$125.80
	Radiator Bottom Mounting	1		\$27.50
	Stay, Radiator Support, RH	1		\$65.70
	Stay, Radiator Support, LH	1		\$65.70
	Radiator Fan Blade (RH)	1		\$233.10
	Radiator Fan Blade (LH)	1		\$233.10
	Radiator Fan Motor (RH)	1		\$543.70
	Radiator Fan Motor (LH)	1		\$543.70
	Deflector, Radiator Side, RH	1		\$83.50
	Deflector, Radiator Side, LH	1	ì	\$83.50
	Cover, Radiator Support Opening	1		\$225.40
	Reserve Tank Assy, Radiator w/o Cap	1		\$395.30
	Pipe, Radiator	1		\$126.50
	Button Assy, Horn	1		\$2,377.30
1	Horn Wire	1		\$6,079.70
-	Horn (1 PC)	1		\$112.71
	Airflow Sensor	1		\$517.80
	Cleaner Assy, Air	1		\$970.30
	Air Cleaner Top Cover	1		\$446.50
	Air Cleaner Bottom Cover	1		\$947.80
	Air Cleaner Hose	1		\$62.12
	AIR DUCT CENTRE	1		\$129.40
	Inlet Assy, Air Cleaner	1		\$199.20
	Air Duct Centre	1		\$94.03
	Aircon Control Assy	1		\$867.70
	Panel Assy, Instrument Cluster Finish	1		\$1,536.20
	Valve, Cooler Expansion	1		\$275.80
	Thermistor, Cooler, No. 1	1		\$68.00
	Tube & Accessory Assy, Airconditioner	1		\$631.90
	Evaporator Sub-Assy, Cooler, No. 1	1		\$1,229.30
	Compressor Assy, W/Motor	1		\$2,924.20
	Condenser Assy, W/Receiver	4		\$1,336.60
	Aircon Discharge Hose	1		\$386.90
	Aircon Liquid Hose & Pipe	1		\$580.45
	Aircon Hose Suction	1		\$548.50
	Aircon Blower Assy	1 1		\$1,036.00
	Fender Sub-Assy, Front RH	1	l	\$945.30
	Fender Sub-Assy, Front LH	1		\$945.30
	Front Housing Assy, LH	1	1	\$958.30
	Front Housing Assy, EH	1	ı	\$958.30
	Front Fender Shield LH	1		\$198.50
l l	Front Fender Shield RH	1		\$198.50
	Front Fender Shield ClipS	10	\$2.20	\$22.00
Ų	Single Strick Strick Single	,5 I	ΨΖ.Ζ.	Ψ22.00

PART NO.	DESCRIPTION	QTY	UNIT PRICE	AMOUNT
	Front Fender Hybrid Emblem, LH	1		\$86.50
	Front Fender Hybrid Emblem, RH	1		\$86.50
	Bracket, Front Side Panel, RH	1		\$44.50
	Bracket, Front Side Panel, LH	1		\$44.50
	Extension, Front Fender, RH	1		\$47.20
	Extension, Front Fender, LH	1		\$47.20
	Protector, Front Fender Upper, LH	1		\$46.10
	Protector, Front Fender Side Panel, RH	1		\$113.90
	Seal, Front Fender To Cowl Side, RH/LH	2	\$15.20	\$30.40
	Gusset, Front Fender Apron, Lower RH	1		\$34.90
	Gusset, Front Fender Apron, Lower LH	1		\$34.90
	Extension, Front Fender Apron, Front RH/LH	2	\$23.20	\$46.40
	Member, Front Apron To Cowl Side, Upper RH	1		\$138.40
	Member, Front Apron To Cowl Side, Upper LH	1		\$138.40
	Front Apron To Cowl Side, Lower Frt RH	1		\$82.30
	Front Apron To Cowl Side, Lower Frt LH	1		\$82.30
	Tray, Battery	1		\$42.80
	Clamp, Battery	1		\$58.00
	Panel Sub-Assy, Front Door, RH	1		\$1,264.00
	Panel Sub-Assy, Front Door, LH	1		\$1,264.00
	Front Door Rubber (LH/RH)	2	\$228.80	\$457.60
	Front Door Glass (LH/RH)	2	\$313.60	\$627.20
	Front Door Outer Handle (RH)	1		\$378.90
	Front Door Outer Handle (LH)	1		\$378.90
	Front Door Inner Handle (LH/RH)	2	\$184.70	\$369.40
	Front Door Inner Lock	2	\$688.80	\$1,377.60
	Front Door Hinge Upper	2	\$82.30	\$164.60
	Front Door Hinge Lower	2	\$91.20	\$182.40
	Front Door Check	2	\$155.70	\$311.40
	Front Door Trimboard	2	\$725.00	\$1,450.00
	Front Door Inner Moulding	2	\$188.00	\$377.20
	Front Door Outer Moulding	2	\$188.00	\$377.20
	Front Door Handle Base	2	\$287.70	\$575.40
	Front Door Key Lock Set	1		\$428.90
	Front Door Rubber Seal	2	\$257.90	\$515.80
	Front Door Whether Strip	2	\$226.80	\$453.60
	Panel Sub-Assy, Rear Door, RH	1		\$1,258.30
ų.	Panel Sub-Assy, Rear Door, LH	1		\$1,258.30
J.	Rear Door Glass (LH/RH)	2	\$313.60	\$627.20
	Rear Door Rubber (LH/RH)	2	\$228.80	\$457.60
	Rear Door Outer Handle, LH	1	4	\$93.90
	Rear Door Outer Handle, RH	1		\$93.90
	Rear Door Base RH/LH	2	\$93.90	\$187.90
	Rear Door Inner Lock	2	\$644.70	\$1,289.40
	Rear Door Hinge Upper RH/LH	2	\$82.30	\$164.60
	Rear Door Hinge Lower RH/LH	2	\$82.30	\$164.60
	Rear Door Check RH/LH	2	\$155.70	\$311.40
	Rear Door Trimboard RH/LH	2	\$725.00	\$725.00
1	Rear Door Outer Moulding RH/LH	2	\$141.00	\$282.00
1	Rear Door Inner Moulding RH/LH	2	\$141.00	\$282.00
1	Rear Door Rubber Seal Outer RH/LH	2	\$257.90	\$515.80
- 1	Rear Door Whether Strip RH/LH	2	\$257.90 \$176.60	\$353.20
Î,	Near Door Writerier Strip KIT/LIT	2	φ1/0.00]	φ353.20

PART NO.	DESCRIPTION	QTY	UNIT PRICE	AMOUNT
	Door Centre Pillar RH/LH	× 2	\$1,590.60	\$3,180.00
	Front Door Safety Belt (LH/RH)	2	\$846.10	\$1,692.20
	Rear Door Safety Belt (LH/RH)	2	\$838.00	\$1,676.00
	Rear Door Safety Belt, Outer Centre (LH/RH)	2	\$526.00	\$1,052.00
	Front Cushion Seat RH/LH	2	\$1,180.00	\$2,360.00
	Front Cushion Seat Adjuster (LH)	1		\$1,450.40
	Front Cushion Seat Adjuster (RH)	1		\$1,530.80
	Front Cushion Seat Cushion Pad (RH)	1		\$526.80
	Front Cushion Seat Cushion Pad (LH)	1		\$850.40
	Front Cushion Seat Cushion Cover (LH/RH)	2	\$1,580.00	\$3,160.00
	Front Cushion Seat Back Pad (LH/RH)	2	\$520.30	\$1,040.60
	Front Cushion Seat Back Cover (LH/RH)	2	\$2,940.20	\$5,880.40
	Front Cushion Seat Back Frame (LH/RH)	2	\$780.80	\$1,561.60
	Motor Assy, Power Window Regulator, RH	1		\$941.80
	Motor Assy, Power Window Regulator, LH	1		\$768.90
	Regulator Sub-Assy, Front Door Window, RH	1		\$233.70
	Regulator Sub-Assy, Front Door Window, LH	1		\$233.70
	Glass, Sub-Assy, Front Door, RH	1		\$780.00
	Glass, Sub-Assy, Front Door, LH	1		\$780.00
	Glass, Sub-Assy, Rear Door, RH	1		\$780.00
	Glass, Sub-Assy, Rear Door, LH	1		\$780.00
	Mirror Assy, Outer Rear View, RH / LH	2	\$1,390.10	\$2,780.20
	Cover, Outer Mirror, RH / LH	2	\$141.90	\$283.80
	Outer Mirror, RH / LH	2	\$212.80	\$425.60
	Window Assy, Quarter, RH	1	,	\$488.20
	Window Assy, Quarter, LH	1		\$168.10
	Moulding, Front Door Window Frame, Rear RH	1		\$53.70
	Moulding, Front Door Window Frame, Rear LH	1		\$53.70
	Moulding, Rear Door Window Frame, Front RH	1		\$69.20
	Moulding, Rear Door Window Frame, Front LH	1		\$69.20
	Rocker Panel Outer RH/LH	2	\$559.20	\$1,118.40
	Reinforce Sub-Assy, Rocker, Outer RH	1		\$519.80
	Reinforce Sub-Assy, Rocker, Outer LH	1	1	\$519.80
	Moulding Assy, Body Rocker Panel, RH	1	- 1	\$673.60
	Moulding Assy, Body Rocker Panel, LH	1	-	\$673.60
	Centre Rocker Panel (Garnish) RH/LH	2	\$576.00	\$1,152.00
	Front Pillar Upper Cover, RH	1		\$96.00
	Front Pillar Upper Cover, LH	1	1	\$96.00
	Front Windscreen Glass	1		\$1,627.30
	Front Windscreen Glass Moulding	1		\$208.60
	Front Windscreen Glass Pillar RH/LH	2	\$343.10	\$686.20
	Wiper Motor Frt	1	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	\$784.10
	Arm, Front Wiper, RH	1		\$180.10
	Blade, Front Wiper, RH	1		\$147.90
- 1	Arm, Front Wiper, LH	1		\$180.10
1	Blade, Front Wiper, LH	1		\$147.90
1	Wiper Top Garnish	1		\$668.32
1	Wiper Spare Tank	1 1		\$183.75
	Wiper Spare Tank Motor	1		\$242.70
	Wiper Spare Tank Notes	1		\$135.00
	Fuse Box Top Cover	1		\$82.30
	Fuse Box Bottom Cover	1		\$71.00
, I	The Poy Pottolii Ootol	4 1	1	Ψ7 1.00

PART NO.	DESCRIPTION	QTY	UNIT PRICE	AMOUNT
	Fuse Box Assy	1		\$131.80
	Front Wheel Rim RH/LH	2	\$1,570.55	\$3,141.00
	Front Wheel Hub Cap RH/LH	2	\$177.70	\$355.40
	Front Wheel Hub Bearing RH/LH	2	\$560.10	\$1,120.20
	Front Suspension Lower Arm (RH)	1		\$637.50
	Front Suspension Lower Arm (LH)	1		\$637.50
	Front Shock Absorber (LH)	1		\$401.80
	Front Shock Absorber (RH)	1		\$401.80
	Absprber Top Mounting (LH/RH)	2	\$196.20	\$392.40
	Front Drive Shaft (LH)	1		\$1,764.00
	Front Drive Shaft (RH)	1		\$1,764.00
	Rack & Pinion Assy	1		\$1,634.90
	Bar, Stabilizer	1		\$360.00
ľ	Link Assy, Front Stabilizer, LH	1		\$199.00
	Knuckle, Steering, RH	1		\$580.80
	Knuckle, Steering, LH	1		\$580.80
	Joint Assy, Lower Ball, Front RH /LH	2	\$199.90	\$399.80
	Disc, Front	2	\$1,570.00	\$3,140.00
	Hub Sub-Assy, Front Axle, RH/LH	2	\$549.70	\$1,099.40
	End Sub-Assy, Tie Rod, RH	1		\$159.30
	End Sub-Assy, Tie Rod, LH	1		\$159.30
	Engine Under Cover	1		\$457.20
	Engine Cross Member	1		\$2,531.70
	Frt ABS Wire	1		\$455.10
l'	Frt ABS Sensor	1		\$222.10
	Front Chassis Member (LH)	1		\$2,035.10
	Front Chassis Member (RH)	1		\$2,035.10
	Engine Mounting (LH/RH)	2	\$386.60	\$773.20
	Engine Mtg (Front)	1		\$174.63
	Engine Mtr (Rear)	1		\$172.90
	Engine Top Cover	1		\$260.00
	Engine Room Wire	1		\$2,133.90
	Engine Room Wire Frt For Fuse Box	1		\$207.20
	Gearbox Assy	1		\$13,850.50
	Gearbox Mounting	1		\$261.00
	Engine Main Wire	1	ŀ	\$6,138.00
	Brake Booster	1		\$2,771.70
	Brake Master Pump	1		\$6,378.70
	Front Brake Hose	1		\$90.70
	Front Brake ABS Sensor Only	1		\$450.70
	Front Brake Calipers	1		\$882.90
	Fan Belt	1		\$155.00
	Side Airbag, LH	1		\$1,479.00
	Side Airbag, RH	1		\$1,479.00
	Air Bag Assy, Driver Side Lower	1		\$1,615.00
	Air Bag Assy, Front Seat, RH	1		\$857.90
	Air Bag Assy, Front Seat, LH	1		\$857.90
	Air Bag Assy, Instrument Panel Passenger w/o Door, LH	1		\$3,277.50
U.	Roof Top Cover Aigbag	1		\$1,463.80
	Dashboard Air Bag Assy Passenger	1		\$3,240.20
	Air Bag Sensor	1		\$986.00
1	Instrumental Panel	1		\$1,536.20
		186	(19)	

PART NO.	DESCRIPTION	QTY	UNIT PRICE	AMOUNT
	Roof Lining	1		\$2,082.10
	Dashboard Assy	1		\$5,480.90
	Arm Rest Assy	1		\$1,389.90
	Computer Assy, Air Bag ECU	1		\$2,402.20
	Sensor, Air Bag, Front RH	1		\$313.50
	Retainer, Ultrasonic Sensor, No. 1	1		\$49.60
	Sensor, Water Temperature (For E.F.I.)	1		\$118.10
	Wire, Skid Control Sensor	1		\$78.80
	Wire, Skid Control Sensor	1		\$78.80
	Sensor, Speed, Front RH	1	1	\$446.50
	Sensor, Speed, Front LH	1		\$446.50
	Switch, Push Start	1		\$412.00
	Computer, Engine Control	1		\$2,636.10
	Sensor Assy, Side Air Bag, RH	1		\$709.30
	Sensor, Air Bag, Rear RH	1		\$567.80
	Sensor, Battery Voltage	1		\$256.80
	Transmitter Sub-Assy, Electrical Key	1		\$447.10
	Cover, Rain Sensor	1		\$500.70
	Engine Front Mounting Bracket, LH	1		\$172.91
	Cover, Engine Undercover Centre	1		\$448.30
	Cover, Engine Under, No. 2	1		\$76.90
	Cover, Engine Under, No. 2	1		\$76.90
	Cover, Engine Under, Rear RH	1		\$84.90
	Cover, Engine Under, Rear LH	4		\$84.90
	Engine Main Wire	1		\$6,138.00
	Wiring Front	1		\$8,450.50
	Wiring Engine	1		\$2,133.90
	Wiring Floor	1		\$3,380.60
	Wire, Engine, No. 2	1		\$195.00
	Wire, Instrument Panel, No. 3	1		\$4,208.10
	Wire, Front Door, RH	1		\$445.70
	Wire, Front Door, LH	1		\$445.70
	Wire, Rear Door, No. 1	1		\$280.20
	Wire, Rear Door, No. 2	1		\$280.20
	Wire, Floor	1		\$3,380.00
	Wire, Back Door, No. 1	1		\$246.80
	Wire, Front Seat, RH No. 2	1		\$248.80
	Relay, Integration No. 1	1		\$366.10
	Relay, Integration No. 1	1		\$243.20
	Gauge Assy, Fuel Sensor, No. 2	1		\$212.20
	Switch Assy, Oil Pressure (For Engine)	1	I	\$63.80
	Lens, Meter, No. 2	1	1	\$66.10
	Reflector, Combination Meter, No. 1	1		\$116.90
	Control & Panel Assy, Integration	1	1	\$347.60
	Control & Panel Sub-Assy, Integration	1		\$226.00
	Master Switch Assy, Multiplex Network	1	I	\$539.50
	Switch Assy, Headlamp Dimmer	1	- 1	\$330.30
	Switch, Headlamp Leveling	1	l l	\$146.70
	Switch, Steering Pad, RH	1		\$557.40
	Switch, Steering Pad, LH	1		\$568.70
	Cable Sub-Assy, Spiral w/Sensor	1		\$953.70
	Switch Assy, Stop Lamp	1		\$68.10
-1E		1(7)	000	

PART NO.	DESCRIPTION	QTY	UNIT PRICE	AMOUNT
	Switch Assy, Windshield Wiper	1		\$375.00
	Switch, Transmission Shift Main	1		\$138.90
	Switch, Trip	1		\$252.20
	Body Assy, Throttle	1		\$1,965.40
	Manifold Assy	1		\$875.60
	Intake Air Flow (Air Flow Sensor)	1		\$344.60
	Injector Assy, Fuel	1		\$476.10
	Actuator	1		\$881.60
	Valve Assy, EGR	1		\$685.00
	Gasket, EGR Valve	1		\$11.50
	Motor Assy, Hybrid Vehicle	1		\$4,833.00
	Generator Assy, Hybrid Vehicle	1		\$3,358.10
	Inverter Assy, w/Converter	1		\$5,390.20
	Battery Assy, HV Supply	1		\$5,544.40
	Transaxle Assy, Hybrid Vehicle	1		\$10,249.20
	Hybrid Inverter Spare Tank	1	1	\$371.30
	Hybrid Inverter Bypass Hose (Inlet)	1		\$42.60
	Hybrid Inverter Bypass Hose (Outlet)	1		\$29.30
	Hybrid Cooling Pump Motor	1		\$432.20
	Pole Sub-Assy, Roof Antenna	1		\$84.70
	Key Lock Antenna	1		\$312.00
	Rear Trunk Lid Cover	1		\$1,126.60
	Rear Trunk Lid Lock	1		\$457.90
5	Rear Trunk Lid Cover Trim Board	1		\$254.40
	Rear Trunk Lid Cover Tilli Board	1		\$365.20
	Rear Trunk Lid Glass (Black Color)			\$1,569.70
	-70	1		\$360.80
	Rear Trunk Outer Corriet	1		\$889.70
	Rear Trunk Outer Garnish	1	#FO 00	
	Rear Trunk Hinge RH/LH	2	\$59.80	\$59.80
	Rear Trunk Lamp RH/LH	2	\$233.90	\$467.80
	Rear Trunk Lid Logo (Prius)			\$60.80
	Rear Trunk Lid Logo (Hybrid)	1		\$52.40
	Rear Trunk Lid Logo (Toyota Star)	1		\$52.90
	Roof Top Moulding (Centre)	1		\$950.00
	Roof Top Garnish Sub, LH	1		\$75.00
	Roof Top Garnish Sub, RH	1		\$75.00
	Cover, Assy, Tonneau	1		\$923.40
	Plate, Rear Wheel House, Front RH	1		\$57.50
	Plate, Rear Wheel House, Front LH	1		\$57.50
	Motor & Pump Assy, Rear Washer	1		\$240.80
	Motor Assy, Rear Wiper	1		\$734.60
	Link Assy, Windshield Wiper	1		\$369.00
	Arm Assy, Rear Wiper	1	I	\$86.40
	Blade Assy, Rear Wiper	1		\$55.00
	Jar Assy, Windshidle Washer	1		\$180.10
	Rear Bumper	1	1	\$458.60
	Rear Bumper Re-Inforcement	1		\$318.80
	Rear Bumper Under Cover	1		\$552.60
	Rear Bumper Side Retainer RH/LH	2	\$112.70	\$112.70
	Rear Bumper Under Side Cover (RH)	1		\$232.00
	Rear Bumper Under Side Cover (LH)	1		\$232.00
	Rear Bumper Under Side Centre Cover	1	1	\$552.60
11.7		0.00		

PART NO.	DESCRIPTION	QTY	UNIT PRICE	AMOUNT
	Rear Bumper Towing Cover	1		\$82.70
,	Rear Bumper Clips	10	\$2.20	\$22.00
	Rear Bumper Reflector RH/LH	2	\$30.50	\$61.00
l	Arm Sub-Assy, Rear Bumper, RH	1		\$139.60
	Arm Sub-Assy, Rear Bumper, LH	1		\$139.60
	Retainer, Rear Bumper, Upper Side	1		\$30.70
	Retainer, Rear Bumper, Side, RH	1		\$94.80
	Retainer, Rear Bumper, Side, LH	1		\$94.80
	Seal, Rear Bumper Side, RH	1		\$148.40
	Seal, Rear Bumper Side, LH	1		\$148.40
	Tial Lamp Assy (Upper) RH/LH	2	\$557.90	\$1,115.80
	Tail Lamp Assy (Lower) RH/LH	2	\$548.40	\$1,096.80
	Tail Lamp Quarter Panel RH/LH	2	\$216.00	\$432.00
	Tail Lamp Side Cover RH/LH	2	\$256.00	\$512.00
	Rear End Panel	1		\$602.10
	Rear End Panel Garnish	1		\$165.80
	Rear Spare Tyre Panel	1		\$667.70
	Rear Spare Tyre Cushion (Fir Board Centre)	1		\$101.40
	Rear Fiber Tool Box Trim	1		\$398.00
	Rear Spare Tyre Nut	1		\$88.00
	3rd Brake Light	1		\$198.40
	Fiber Two Box Tray	1		\$398.00
	Rear Exhaust Pipe	1		\$1,163.40
	Rear Exhaust Pipe (Front)	1		\$2,966.20
	Rear Exhaust Pipe Hanger	1		\$40.70
	Rear Exhaust Pipe Insulator	1		\$314.60
	Rear Exhaust Pipe Centre Insulator	1		\$498.60
	Rear Fender, LH	1		\$836.70
	Rear Fender, RH	1		\$836.70
	Rear Fender Inner Panel, LH	1		\$728.00
	Rear Fender Inner Panel, RH	1		\$728.00
	Rear Fender Outer Panel, LH	1		\$486.00
	Rear Fender Outer Panel, RH	1		\$486.00
	Rear Fender Panel, Roof Side Outer, LH	1		\$311.00
	Rear Fender Panel, Roof Side Outer, RH	1		\$311.00
	Rear Fender Reinforcement, Rocker, Panel, LH	1		\$552.30
	Rear Fender Reinforcement, Rocker Panel, RH	1		\$552.30
	Rear Fender Extension, Roof Side Inner Frt,LH	1		\$265.10
	Rear Fender Extension, Roof Side Inner Frt RH	1		\$265.10
	Rear Fender Side Panel	1		\$165.00
	Rear Fender Shield (LH/RH)	2	\$134.20	\$268.40
	Rear Fender Trimboard (LH/RH)	2	\$725.00	\$1,450.00
	Rear Floor Panel Side (LH)	1		\$276.20
	Rear Floor Panel Side (RH)	1		\$276.20
	Rear Fender Top Cover (Black Color)(LH/RH)	2	\$301.10	\$602.20
	Rear Fender Air Duct	1		\$165.10
	Rear Fender Top Panel Inner RH/LH	2	\$340.20	\$680.40
	Rear Chassis Member RH/LH	2	\$1,180.80	\$2,361.60
	Rear Floor Board (LH)	1	4.,.20.03	\$301.00
	Rear Floow Board ((RH)	1		\$301.00
	Rear Floor Under, Cover Centre	1		\$322.00
	Rear Floor Under Cover	1		\$334.00
,			(. i ./)	42000

	DESCRIPTION	QTY	UNIT PRICE	AMOUNT
	Rear Crossmember Under Cover	1		\$353.00
	Rear Floor Panel	1		\$2,850.50
	Rear Windscreen Glass With Moulding	1		\$1,778.30
	Rear Windscreen Glass Moulding	1		\$208.60
	Smart Transmitter Key	1		\$447.10
	Rear Tyre Rim (LH/RH)	2	\$1,570.55	\$3,141.10
	Rear Wheel Hub Cap (LH/RH)	2	\$177.70	\$354.00
	Rear Wheel Bearing Ing & Hub RH/LH	2	\$610.20	\$1,220.40
	Rear Cross Member	1		\$2,200.40
Ш	Rear Shock Absorber	2	\$118.60	\$237.20
	Rear Shock Absorber Mounting	2	\$125.30	\$250.60
	Rear Lower Arm	2	\$497.50	\$995.00
	Rear Upper Arm	2	\$356.80	\$713.60
- 1	Rear Knuckle Arm	2	\$810.60	\$1,621.20
- 1	Rear Coil Spring	2	\$191.40	\$382.80
- 1	Rear Brake ABS Sensor (Wire)	2	\$78.80	\$157.60
- 1	Rear Stabilizer Bar	1		\$311.50
- 1	Rear Stabilizer Link RH/LH	2	\$151.60	\$303.20
	Rear Trailing Arm RH/LH	2	\$314.20	\$628.40
- 1	Rear Assist Arm RH/LH	2	\$342.20	\$684.40
- 1	Rear Brake Hose RH/LH	2	\$90.70	\$181.40
- 1	Rear Brake ABS Sensor Wire RH/LH	2	\$78.80	\$157.60
- 1	7			
- 1	Rear Brake ABS Sensor RH/LH	2	\$241.10	\$482.20
- 1	Rear Brake Caliper RH/LH	2	\$842.90	\$1,685.80
ľ	Rear Brake Disc Rotor RH/LH	2	\$416.50	\$833.00
	SUB TOTAL			\$345,106.69
	LESS 20%			\$69,021.33
	LESS 20% DISCOUNTED TOTAL			\$69,021.33 \$276,085.35
F		2	\$25.00	\$276,085.35
- 1	DISCOUNTED TOTAL	2 2	\$25.00 \$30.00	\$276,085.35 \$50.00
F	DISCOUNTED TOTAL Front/Rear No. Plate			\$276,085.35 \$50.00 \$60.00
F	DISCOUNTED TOTAL Front/Rear No. Plate Front/Rear No. Plate Trim Cover	2		\$276,085.35 \$50.00 \$60.00 \$99.00
F	Front/Rear No. Plate Front/Rear No. Plate Front No. Plate Trim Cover Front No. Plate Garnish	2 1	\$30.00	\$276,085.35 \$50.00 \$60.00 \$99.00 \$92.00
F F	Front/Rear No. Plate Front/Rear No. Plate Front No. Plate Trim Cover Front No. Plate Garnish Front Windscreen Sealant Front Tyre (LH/RH)	2 1 2	\$30.00 \$46.00	\$276,085.35 \$50.00 \$60.00 \$99.00 \$92.00 \$432.00
F F F	Front/Rear No. Plate Front/Rear No. Plate Front/Rear No. Plate Trim Cover Front No. Plate Garnish Front Windscreen Sealant Front Tyre (LH/RH) Rear Tyre (LH/RH)	2 1 2 2	\$30.00 \$46.00 \$216.00	\$276,085.35 \$50.00 \$60.00 \$99.00 \$92.00 \$432.00
FFFF	Front/Rear No. Plate Front/Rear No. Plate Front No. Plate Trim Cover Front No. Plate Garnish Front Windscreen Sealant Front Tyre (LH/RH) Rear Tyre (LH/RH) Rear Trunk Lid Apps Sticker	2 1 2 2 2	\$30.00 \$46.00 \$216.00	\$276,085.35 \$50.00 \$60.00 \$99.00 \$92.00 \$432.00 \$432.00 \$40.00
F F F F F	Front/Rear No. Plate Front/Rear No. Plate Front No. Plate Trim Cover Front No. Plate Garnish Front Windscreen Sealant Front Tyre (LH/RH) Rear Tyre (LH/RH) Rear Trunk Lid Apps Sticker Rear Trunk Lid Comfort & Tel No. Sticker	2 1 2 2 2	\$30.00 \$46.00 \$216.00	\$276,085.35 \$50.00 \$60.00 \$99.00 \$432.00 \$432.00 \$40.00 \$60.00
H H H H H H H H	Front/Rear No. Plate Front/Rear No. Plate Front/Rear No. Plate Trim Cover Front No. Plate Garnish Front Windscreen Sealant Front Tyre (LH/RH) Rear Tyre (LH/RH) Rear Trunk Lid Apps Sticker Rear Trunk Lid Comfort & Tel No. Sticker Rear Bumper Reverse Sensor	2 1 2 2 2	\$30.00 \$46.00 \$216.00	\$276,085.35 \$50.00 \$60.00 \$99.00 \$92.00 \$432.00 \$432.00 \$40.00 \$60.00 \$135.70
F F F F F F F F F F F F F F F F F F F	Front/Rear No. Plate Front/Rear No. Plate Front No. Plate Trim Cover Front No. Plate Garnish Front Windscreen Sealant Front Tyre (LH/RH) Rear Tyre (LH/RH) Rear Trunk Lid Apps Sticker Rear Trunk Lid Comfort & Tel No. Sticker	2 1 2 2 2 1 1	\$30.00 \$46.00 \$216.00	\$276,085.35 \$50.00 \$60.00 \$99.00 \$92.00 \$432.00 \$432.00 \$40.00 \$60.00 \$135.70
F F F F F F F F F F F F F F F F F F F	Front/Rear No. Plate Front/Rear No. Plate Trim Cover Front No. Plate Garnish Front Windscreen Sealant Front Tyre (LH/RH) Rear Tyre (LH/RH) Rear Trunk Lid Apps Sticker Rear Trunk Lid Comfort & Tel No. Sticker Rear Bumper Reverse Sensor Rear Bumper Rubber Mat	2 1 2 2 2 1 1	\$30.00 \$46.00 \$216.00	\$276,085.35 \$50.00 \$60.00 \$99.00 \$432.00 \$432.00 \$40.00 \$60.00 \$135.70 \$50.00
	Front/Rear No. Plate Front/Rear No. Plate Trim Cover Front No. Plate Garnish Front Windscreen Sealant Front Tyre (LH/RH) Rear Tyre (LH/RH) Rear Trunk Lid Apps Sticker Rear Trunk Lid Comfort & Tel No. Sticker Rear Bumper Reverse Sensor Rear Bumper Rubber Mat	2 1 2 2 2 1 1	\$30.00 \$46.00 \$216.00	\$276,085.35 \$50.00 \$60.00 \$99.00 \$432.00 \$432.00 \$40.00 \$60.00 \$135.70 \$50.00
F F F F F F F	Front/Rear No. Plate Front/Rear No. Plate Trim Cover Front No. Plate Garnish Front Windscreen Sealant Front Tyre (LH/RH) Rear Tyre (LH/RH) Rear Trunk Lid Apps Sticker Rear Trunk Lid Comfort & Tel No. Sticker Rear Bumper Reverse Sensor Rear Bumper Rubber Mat SUB TOTAL TOTAL SPARE PARTS	2 1 2 2 2 1 1	\$30.00 \$46.00 \$216.00	\$276,085.35 \$50.00 \$60.00 \$99.00 \$432.00 \$432.00 \$40.00 \$60.00 \$135.70 \$50.00
	Front/Rear No. Plate Front/Rear No. Plate Trim Cover Front No. Plate Garnish Front Windscreen Sealant Front Tyre (LH/RH) Rear Tyre (LH/RH) Rear Trunk Lid Apps Sticker Rear Trunk Lid Comfort & Tel No. Sticker Rear Bumper Reverse Sensor Rear Bumper Rubber Mat SUB TOTAL TOTAL SPARE PARTS	2 1 2 2 2 1 1	\$30.00 \$46.00 \$216.00	\$276,085.35 \$50.00 \$60.00 \$99.00 \$432.00 \$432.00 \$432.00 \$40.00 \$50.00 \$1,450.70 \$277,536.05
	Front/Rear No. Plate Front/Rear No. Plate Trim Cover Front No. Plate Garnish Front Windscreen Sealant Front Tyre (LH/RH) Rear Tyre (LH/RH) Rear Trunk Lid Apps Sticker Rear Trunk Lid Comfort & Tel No. Sticker Rear Bumper Reverse Sensor Rear Bumper Rubber Mat SUB TOTAL TOTAL SPARE PARTS Labour Charge Panel Beating	2 1 2 2 2 1 1	\$30.00 \$46.00 \$216.00	\$50.00 \$60.00 \$99.00 \$92.00 \$432.00 \$432.00 \$40.00 \$60.00 \$135.70 \$50.00 \$1,450.70 \$277,536.05
	Front/Rear No. Plate Front/Rear No. Plate Trim Cover Front No. Plate Garnish Front Windscreen Sealant Front Tyre (LH/RH) Rear Tyre (LH/RH) Rear Trunk Lid Apps Sticker Rear Trunk Lid Comfort & Tel No. Sticker Rear Bumper Reverse Sensor Rear Bumper Rubber Mat SUB TOTAL TOTAL SPARE PARTS	2 1 2 2 2 1 1	\$30.00 \$46.00 \$216.00	\$50.00 \$60.00 \$99.00 \$92.00 \$432.00 \$432.00 \$40.00 \$60.00 \$135.70 \$50.00

Towing Charge – King Dolly Front Chassis Alignment Charge Remove/Refix Cushion & Upholstery Rear Remove/Refix Rear Windscreen Glass Remove/Refix Reverse Sensor Remove/Refix Undercarriage (RR) Remove/Refix Fuel Tank			\$200.00 \$400.00 \$150.00
Remove/Refix Cushion & Upholstery Rear Remove/Refix Rear Windscreen Glass Remove/Refix Reverse Sensor Remove/Refix Undercarriage (RR)			
Remove/Refix Rear Windscreen Glass Remove/Refix Reverse Sensor Remove/Refix Undercarriage (RR)			\$150.00
Remove/Refix Reverse Sensor Remove/Refix Undercarriage (RR)			
Remove/Refix Undercarriage (RR)			\$120.00
A CONTRACTOR CONTRACTO			\$120.00
Remove/Refix Fuel Tank			\$200.00
			\$150.00
Remove/Refix Exhaust Pipe			\$150.00
Repair Exhaust Pipe			\$120.00
Transfer of Door			\$120.00
Remove/Refix Auto Door Lever Assy			\$400.00
Remove/Refix Rear Axle			\$280.00
Repiar Gear Box			\$150.00
Repair Rear Top/Lower Cushion Seat			\$300.00
Remove/Refix Undercarriage (Frt)			\$200.00
Rear Wheel Alignment			\$120.00
Remove/Refix Radiator			\$280.00
Remove/Refix Aircon & Refill Gas			\$150.00
Remove/Refix Engine			\$500.00
Remove/Refix Dashboard			\$450.00
Remove/Refix Fuse Box			\$180.00
Remove/Refix Front Windscreen Glass			\$120.00
Remove/Refix Cushion & Upholstery Front			\$150.00
Remove/Refix Steering Rack/Wheel/Dr Shaft			\$500.00
Remove/Refix Power Steering Pump			\$450.00
Remove/Refix Brake Master & Booster Pump			\$180.00
Remove/Refix A/C Pump			\$120.00
Remove/Refix Fuel Pump			\$120.00
Repair Front Cushion Seat			\$300.00
Remove/Refix Seat Adjuster			\$120.00
Remove/Refix Roof Top Taxi Digital Sign			\$150.00
Remove/Refix Roof Top Advertisement			\$150.00
100-100 No. 100-10			\$550.00
Reset Boot Lid Smart Key			\$120.00
Diagnosis & Resetting To Erase Fault Code			\$480.00
TOTAL LABOUR			\$27,250.00
ESTIMATE TOTAL			\$304,786.05
	Remove/Refix Rear Axle Repiar Gear Box Repair Rear Top/Lower Cushion Seat Remove/Refix Undercarriage (Frt) Rear Wheel Alignment Remove/Refix Radiator Remove/Refix Aircon & Refill Gas Remove/Refix Engine Remove/Refix Dashboard Remove/Refix Front Windscreen Glass Remove/Refix Cushion & Upholstery Front Remove/Refix Steering Rack/Wheel/Dr Shaft Remove/Refix Power Steering Pump Remove/Refix A/C Pump Remove/Refix Fuel Pump Remove/Refix Seat Adjuster Remove/Refix Roof Top Taxi Digital Sign Remove/Refix Roof Top Advertisement Remove/Refix Air Bag/Steering Wheel/Dashboard/Seat Reset Boot Lid Smart Key Diagnosis & Resetting To Erase Fault Code	Remove/Refix Rear Axle Repair Gear Box Repair Rear Top/Lower Cushion Seat Remove/Refix Undercarriage (Frt) Rear Wheel Alignment Remove/Refix Radiator Remove/Refix Radiator Remove/Refix Engine Remove/Refix Engine Remove/Refix Dashboard Remove/Refix Fuse Box Remove/Refix Front Windscreen Glass Remove/Refix Cushion & Upholstery Front Remove/Refix Steering Rack/Wheel/Dr Shaft Remove/Refix Power Steering Pump Remove/Refix Brake Master & Booster Pump Remove/Refix A/C Pump Remove/Refix Fuel Pump Repair Front Cushion Seat Remove/Refix Roof Top Taxi Digital Sign Remove/Refix Roof Top Advertisement Remove/Refix Air Bag/Steering Wheel/Dashboard/Seat Reset Boot Lid Smart Key Diagnosis & Resetting To Erase Fault Code	Remove/Refix Rear Axle Repiar Gear Box Repair Rear Top/Lower Cushion Seat Remove/Refix Undercarriage (Frt) Rear Wheel Alignment Remove/Refix Radiator Remove/Refix Aircon & Refill Gas Remove/Refix Engine Remove/Refix Dashboard Remove/Refix Fuse Box Remove/Refix Front Windscreen Glass Remove/Refix Front Windscreen Glass Remove/Refix Steering Rack/Wheel/Dr Shaft Remove/Refix Steering Rack/Wheel/Dr Shaft Remove/Refix Power Steering Pump Remove/Refix A/C Pump Remove/Refix A/C Pump Remove/Refix Fusel Pump Repair Front Cushion Seat Remove/Refix Seat Adjuster Remove/Refix Roof Top Taxi Digital Sign Remove/Refix Roof Top Advertisement Remove/Refix Air Bag/Steering Wheel/Dashboard/Seat Reset Boot Lid Smart Key Diagnosis & Resetting To Erase Fault Code

This is an initial estimate based on a visual inspection of the above vehicle. The final repair quantum will be prepared after the vehicle is surveyed by a motor Surveyor appointed by the insurance company.